S;, SPORT TRANSFER

sports equipment

SPORT-TRANSFER sp. z o.0.
Jawaornik 564

32-400 Myslenice

Tel. +48 12 649 14 83

e-mail: biuro@sport-transfer.com.pl

INSTRUCTIONS FOR ASSEMBLY AND USE OF SPORTS EQUIPMENT

Product: Professional basketball board, mounted on an aluminium angle bars frame
Code: 10 010, 10 011

The basketball board meets the requirements of the PN-EN 1270 standard: “Playing Field Equipment -
Basketball Equipment. Functional And Safety Requirements, Test Methods”.

1. Components

Quantit
Number | Part/subassembly name uantity per
product
1 Acrylic glass plate ]
2 Board frame ]

2. Assembly of the basketball board

- The assembly of the board must be performed on a correctly mounted basketball board.
- The board is fixed directly to the structure.

a) 105x180 cm using four M10 screws and M10 self-locking nuts through holes in the frame of the board
at a distance of 600x1200 mm.

b) 90x120 cm using four M10 screws and M10 self-locking nuts through holes in the frame of the board at
a distance of 600x1200 mm.

Note: for the assembling of the board it is recommended to use M10 screws with a minimum hardness
class of 8.8 and a length adapted to the board structure.



3. Use of whiteboards

a) The basketball board is designed for installation in sports halls.

b) Periodically check the fastening elements of the board and the condition of the board material.
c) Do not subject the boards to mechanical damage [ cutting, notching, burning, etc.).

d) After finding some cracks, stop using the board and immediately contact the manufacturer.

In order to provide additional protection for users, use a shield for the bottom edge of the board Art. No. 10
116/180, 10 016/180, 10 116/120 or 10 016/120.



